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31 My television has nearly 50 __ . There are many programs | can choose from.
(A) channels (B) departments (© commercials (D) confessions
32 | don’t think educational reform will work. lamso __ about it.
(A) rebellious (B) pessimistic (© competent (D) complacent
33 Theweatheristoo _ here in the summer. It is very hot and very damp.
(A) humorous (B) humble © human (D) humid
34  The photo of a polar bear with her cub onamelting __ reminds people of the danger of the climate crisis.
(A) icecream (B) chocolate (©) iceberg D) glass
35  Peter uses “Warrior” as his password whenhe __ on to the Internet chat room.
&) flies B logs ©) tips (D) walks
36  When facing an accusation we should examine our behavior first instead of __ others.
(A) blaming (B) resolving (© counting (D) abridging
37 1 do not think that these findings on the brain structure of rats can make any __ to the study of human brains.
Human brains are much more complex, after all.
(A) appreciation (B) contribution © invasion (D) reaction
38  Christmas is around the corner! Let’s have a Christmas tree
(A) decorate (B) decorating (© decorated (D) to decorate
39 _ ofany latest news, I will let you know as soon as possible.
(A) Informing (B Informed © To inform (D) By informing
40  The manager nodded, although it was not atall clear __ he was agreeing.

(A who (B whom © to whom (D) with whom

FRIBRY 41 I Y 43 RV

Shanghai began screening international travelers in November for fevers or other __ 41  of bird flu. All passengers
leaving or entering the country through Pudong International Airport will be screened for high temperatures by using an
infrared camera and will have to _ 42  a health declaration form, according to a government website. The form __ 43
passengers to say if they have had close contact with poultry, birds, bird flu patients or suspected cases over the past week.
41 (4 indicators (B) possibilities © symptoms (D) conditions
42 (8 ask for ®) fill out © add into (D) make up
43 (4 suggests (B) insists (©) enables (D) requires




44 A: Great party, huh?
B: Yeah, it really is. And good food, too.
A: Sure is. Did you try the curry?

B: No, notyet, __ . I love the Indian food.
&) but I will B and | won’t (© though I did (D) so 1 do
45  Sue: That movie is fabulous!
Ann: _ ldon’tlike the leading actor. His acting is exaggerated.
Sue: Perhaps...but I still think the movie is pretty good.
(A) You are right. B | don’t think so. (© That is true. (D) I couldn’t agree more.

46  Rick: Extension 103, please.

Operator: The line is busy. Will you hold on?

Rick: No, I’ll call back.

Operator: Oh, it’s free now.

(4 It’s your turn. ® I’ll put you through. © You can call anytime. (D) Here is the message.
7’?}?’%— DY A7 JH = 57 50 fH BL R

What has the telephone done to us, or for us, in the hundred years of its existence? A few effects suggest themselves

at once. It has saved lives by getting rapid word of illness, injury, or famine from remote places. By joining with the
elevator to make possible the multistory residence or office building, it has made possible, for better or worse, the modern
city. By bringing about a quantum leap in the speed and ease with which information moves from place to place, it has
greatly accelerated the rate of scientific and technological change and growth in industry. Beyond doubt, it has crippled if
not killed the ancient art of letter writing. It has made living alone possible for persons with normal social impulses; by so
doing, it has played a role in one of the greatest social changes in family structures. It has made the waging of war
chillingly more efficient than formerly. Perhaps (though not provably) it has prevented wars that might have arisen out of
international misunderstanding caused by written communication. Or perhaps, again not provably, by magnifying and
extending irrational personal conflicts based on voice contact, it has caused wars. Certainly it has extended the scope of
human conflicts, since it impartially disseminates the useful knowledge of scientists and the babble of bores, the affection
of the affectionate and the malice of the malicious.
47  The passage is mainly about

(A) the arguments against using the telephone technology in modern society

(B) the advancement of the telephone technology

(© the effects of the telephone technology on human beings

(D) the comparison between using and not using the telephone technology
48  According to the passage, the modern city was made possible partly because

A4 people living in tall buildings are able to communicate with each other by telephone

(B) information in residence and business areas travels faster by the telephone technology

(© writing letters has become a lost art among those who totally depend upon telephones

(D) the number of people who own telephones and live alone increases greatly and rapidly
49  According to the article, which of the following statements is true?

(A) The rate of industry growth has nothing to do with the telephone technology.

B Irrational personal conflicts have been solved because of the invention of telephone.

(© The elevator has brought about a quantum leap in speed.

(D) Telephone technology cannot prevent wars.
50 The meaning of the word “disseminate” in the last sentence is closestto _

(A) communicate (B) spread ©) listen O tell



